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gboboooooooboobobobobooon



goooo,oboobooobooboo. boo
oooo f,0000ooooooooooon,
goboobooobobooboobobooD.
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2w\ egm

8.98 /o[ H 2|

000 nD00000 [m™3],e0000 [C], o0
000000 [F/m), 000000 [kegOODO.
00000,000000000000000
000000000000, 0000000oon
00000000. 0000000000000
000,000000000000000000
0000000.00000,000000000
000. 000000000000000000
000000, NASA O RAM B-2(1963), RAM
C-1(1967)0000000,0000000000
0ooo00O00oooooooo.
0000000000 00000000000
0000000000000000000000
000000000000 2r000. 02700,
000000000000000000000o
0000000 o0Oo0 10010200000
0000000000000. 00000000
0000000000000000000000
0000000000000000000000
0000000000oooooo
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~

Pa

m)
Ug, Pa2
Za(1 — (ke
p— (2
000000 «e0O00O0oOOoOoooo,o0nObsn
000o0oooobDoooooodpdOodpO
odoooOoOwO0oooobOoAOOOODOO
ooo0dooooooooooooobooooo
goboooobooooooobobooooooo
ogooooooooooo

Db Pa + pauz(l
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}Zb }Za _F

Da + paug
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u
hat 5

Db
Iy,

0000000000000000000000
0000000o0oo00000000000000
00000000 Gordon O McMceBrided OO
0000001100000, N, Oy, No, NO, OF,
N*,0f, NS, NOt, e )000D00000000
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03000000

gooooo ¢0.4
goooog | odo.59MPa
oooo 1.2MPa
oooo DC12V
oooo 0.19A
ooooo gd
gooooo 10500
gooooo 00400
gooooooon
p = NiothT

000 kD0D0D0D0DD0DD (1.381 x 10738[J/K))
0000

1.08+21
1.06+20 * ——————

1.0E+19 -* ——
1.06+18

1.0E+17

106416 +—

1.06415 +—

1.08+14
1.0E+13
1.0E+12
106411
1.0E+10 ff
1.0£+09
1.06+08 +

50

BB (m)

60 70 80 90

745 5% [km)

100 110 120

U2 000b0ooobooboobbon

000000000GPSOO0O0O0O0ODOL50

0(00001.176GHz) 000000000000
0000. 1.176GHz0 000000000000
000000,0 1716 x10%»=3000. 000
0000000000000000000000
000000000000000000 1.716 x
10%»,30000000000000.
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ubobobooooboboboobaooa,
gboboooboobooboooboooboooo
500 000. 0000000bO000DoOn
ugb,o0bboooobobboooobobog
go. boooboooboboobobooooo
gbobogobooobooobobo.oboo 30
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29 00000

g2800ooooogoooboooboo. b
00000 NASAO NASDAOODOO cpUO
goooo0ooobooooobobooooooo
H8/3048 U0 UI0O0O. ODOOUOOOOODOO
O0000D00ODO,000000 1Mbyted OO
00 EEPROMOOOOO. H8/30480 0000
4000.

[P |

e |

‘_—.| EEPROM 1MB
[(zEm || zEs | —H__#EIo—J

) —  REFEAR

= "

aAYURYRTA L BERmi AT
BiER Syiarik

028 000000000000

O 4: H8/3048 0 0 O

CPU H8/300H 0 0 0 16[MHyz]
ROM 128[Kbyte]

RAM 4[Kbyte]
ooooo EEPROM O 1[Mbyte]
00 450 5.5[V]

0000 400 85[0

0000 |30x 30x 20mm)(D000)
210 0O0O0O
2.10.1 OJO0OOOOOOO

O000oOooooooobo GeSOOooono
gboogbooobooooobooboobo
goboogbebboOobOoOobObObObOOobObDOn
O00db0 1HzO0OODOoooooooooo
O0000oooooOoDoDOobDOoDOdn 16bit
gboooboooobooboobbobbg 2000
googboooobooboobooboooboo
24kbyte0 00 0000000000000 0.1Hz
O GpSOOO0OOOO 30000000000
gobooboobooboooobooboonoobo
OO000O0DOo0O0O0obOO0oOoDbOoO0Oo0g 12kbyte
goooboboobogoosbogo

s 00ogooogn

googooobogn W 0.1
gbooooboooo dBi | 0.9
gboogooogon kbyte | 12
gboogooogon kbyte | 2

gooooo S 15

gooooo S 2
obooboooooon | kbps | 64
ooooooooon | kbps | 8

2.10.2 00O0OO0O-0000O0O0OO

00000000000 0oo (booooo)
0000000000000 DooOo (Dooo
O00)oo0oooOoge0roOOO

211 0O0OOoodgoobo

0o0oDoooooooooOooooooao
O,GpSO0O00O0O, 00D0O0O0OODODOOOOO
oodooooobooooo,0ooooooo
ooodoopopooooO,0000oooo0o0o00
O000000000000000 600[s] =0.17[h]
do0oOoobOodboOooobOooboooooon
dooOo0oDOOoobOOooooooooooooo
00,0000000000000Dooooboo
doooOooooooooooo,oooooo
000 Panasonic 00 BR2477AO0DCO0O0O.0O 8
O BR2477A000000O.0900000000
oooo,0o0ooga.

0 8 BR2477A 00O

oo | 0od
oo $24.5x7.7 | [mm]
0o 8| [0]
0000 1.0 | [Ah]
0000 3] [V]
googooo -400 125 | [O]

GpPS,0000,CcPUDODOODO 5 V]OOODODO
O0020000,000000 12[V]O TOREX
OO0 DC-DCOOOOO (XC9119)0ooooo
gboboodgbooobood.

0000000 N[O)jooooooooooo
goooo.



06:0000-00000C/Ny

OO C/NO
Oo0O0oo |[0DD00000
000 MHz 435 401.5
00 km 6.90 x 10* 7.47 x 10*
00 EIRP dBW 9.2 -5.79
goooQ dBW -10 -6.99
ooog dB 0 0
ooooooog dBi 0.9 1.2
ooooooooo dB 0.1 0
gooooo dB 134.2 133.5
gooooo km 282.4 282.4
oooag dB 3 3
goooog dB 0.0537 0.0537
oooo dB 0.1 0.1
oooag dB 0 0
0o G/T dB/K -24.7 -25.9
0000000ooOoooo | dB 0 0.1
oooooooo dBi 1.2 0.9
oooag dB 0 0
oooooooo dBK 25.9 26.7
Dooooooo K 100 300
ooooooo K 289 170
gooooooo K 313 200
oooo dB 3 2
0o C/Ny dBHz 57.3 60.2
gooooog dBHz 6.40 9.58
07 0000-00000C/Ny
00O C/NO
000000 |0000o0o
oooQg FM GFSK
00 Ey/No dB 10.8 10.5
Joooooooo | dB 2.5 2.5
ooooo0 dB 5.2 5.2
gooooog kbps 9.6 9.6
oooooo dB 39.8 39.8
ooog dB 3 3
00 C/Ny dBHz 50.9 50.6
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09 0boobobog ogoog

oooo (oo [v]| oo (w]
GPS 5 1
CPU 5 10
000 5 3.2
000 5 0.07
000 12 0.06

gobodb xgoooooo

OO0 xOOooagd
14.33 x 0.17
= " " —048 < 1O
5x1 < []

goboobog200b00b000obooon
gooooooooboobogooobobog2000
000600 BR2477ADDOOCDOOOOOODO.

3 goooon

3.1 0ooon

000000000000000000000
§240000000000000000000
000000000000000000000
000000000000000000000
0000000000000000000000
a =6678.142[km) 000000 i = 30[deg] O O
00000000000

3.1.1 0O0OO0O0O0O0dooan

00000000 r, = 600/km]000000
r,=200km]000000000000000O0
0000000000000000000000
0000000000000000000000
000000000 0.27[kn/s)00000000
00000000000000AVOOOOO0O
AV =70[m/s) 00000000 AV = 40[m/s]
000030(m/s)|000000000000000
0000020000000000000000
0000000000000000000000
00000000000000000 20000
0000000000000000000000
180[deg) 00000000000 O0O0OOOO0O
000000 AVOOOOOO000000000
1000000000000000000 180[deg]

gboob200000000b000Db0ObOObOO
ugbooobobogooobloboobaoboono. O
goboobooboobooobooooboon
gbooboboobobooobo

0 10: 000000googn

goo (oooo
oood AV g g
ugoodg u g

3.1.2 0OO0O0DOO

ugboboobboobogboooboobbon
O000000000000000000 30[deg] O
goood

3.1.3 0OO0O0O0OO

000000000000000 v=6000
0 240)[deg] 00000,00000000000
0000000000000000000000
0000000000000000000000
00000, =60(000 240)[deg) 000000
0000000000000000000000
0v=60[deg]0 10000000000000O
00,0000000000 Q=0[deg]0000
0000000000000000000000
000000 60[deg] 000000000000
00,0000000000000000000
0000000000000000000000
000 J,00000000000000000,
00000000000000 360/365(deg] 00
000000,000000000000000
0000,000000070000000000
ooo

_ 3nJyRe? cosi 24

AQ =
2(1—¢)2 15086
= —7.347[deg/Day]
Jo = 1082.628 x 107°
Re = 6378.142[km]: 0000

3.1.4 0O000OO0OO0O0OO

gooboobobbooobobooobooooon
gboobouoboboouooboooooob



goooooooboobobobobobobo
gboooboooobooooobooobooon
000000000 10km) 000000000
gboobooooboobo,obo0bboon
50,30,10(km|000000000O0OO0OOOOO
gobobo2900b000b0obobobobg
goooooooboobobobobobobo
god

CEDE
\/.

10km_———

029 000000000000

3.2 00O
3.2.1 000O0O0OO0OODOO

000000000000000000000
00000000000000000000000
0D000000000000000000000
0000000000000 490mm|00000
00 450mm]0000000000000000
00110000000000000000000
0000003000 3100 320000011000
000000000000000000 34.0[kg
0000000000 (6kg]x 2)0000000
000000 46.0(kg) 00000

0 30: 0000
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011:. 000000

0o oo 00 [mm] EEE
goon
goooooon - - 1
GPSODODO IGPS-1 11 x 36 x 56 0.039
ooo TXE430MFMCW-301A 100 x 60 x 10.5 0.06
ooo RXE430M-301A 60 x 50 x 10.5 0.038
ggn EEPROM 30 x 20 x 1.5 0.01
O00O00Ox 6 BR2477A $24.5 x 7.7 0.008 x 6
CPU H8/3048 30 x 30 x 20 0.1
goon goooooon - 0.05
Oo0ooOoOdx 2 - 20 x 20 x 35 0.5
goooooon - - 1.5
0oo0o—0ad gooooon goog 30 2.68
00 6.0
ERERN
Oo0o0O0Odx 8 - 450 x 200 x 10 13.0
gogoodx 2 - 470 x 60 x 470 10.0
oooDOo - 490 x 60 x 490 5
0000x 2 : $100 x 20 4.5
0oo - 0000 3m000 0.5[m] 0.8
ggoon
ooooodx 4 Sun Sensor model 0.05 ¢40 x 15 0.04 x 4
ooogox 1 Magnetic Sensor HMC5843 4.0x4.0x 1.3 0.005
oooooOgdx 1 Gyro Sensor ITG-3200 4.0 x 4.0 x 0.9 0.004
GPSODODO IGPS-1 11 x 36 x 56 0.039
OO0O00Ox 4 SV 14 Cold Gas Thruster 15.9 x 52 0.075 x 4
ugoon - o0 23000 135000 200 7.0
ERERN
ooo TXE430MFMCW-301A 100 x 60 x 10.5 0.06
ooo RXE430M-301A 60 x 50 x 10.5 0.038
CPU SEMC5701B 52 x 52 x 55 1.7
goon gooon g 130 0.05
gdn
gooogg2od KR-CH(3.0) 025.2 x 49 0.078 x 20
oood ITJ Solar Cells oo o.14 0.28
ggoon
OoooooOx 4 - 450 x 200 0.8
gagd 34.0
| D0 (0O00+0000x 2) | 460
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3.22 Q0O0OODO

ogooooooooooboboboooooon
goboobooboobboobooboon
gooboooooooboo ckPRPODOOOO
CFRPOODOOOUODODOOOOOOO(ODD)DOO
gbobobobooobooooooooboobo
gobodgboobbooboobuooboab
o000 XN-9oOOODOOCFRPOOODOO 12
gbogg

012: 00000
0000 [deg] 0 |90
00 [kg/m3] 2190

ODO0O00 [MPa] | 1800 | 25

OD0O000 [GPa] | 550(0) | 5.4

540(0) | -

0000 [MPal 370 -
00000 [MPa) 60
ooooo 0.34

3.23 0O0OO0O0O0OOOO0OODO

gooogo

OO00D0OO00D0O00,u-Labsatl OOOOODOO
gobooboobooboboobbooboob
g.0oobooobgoboboobooobgoon
gogoo.ocobobobboooooooooboooo
oob0,0b00 Dyneema OO DODOOOOO
(YGKOOOOOOOOoOOoOOO 1-5-10)000 20
O (0.740mm) 00000 O0O0O. OOOOOO
000000 DyneemaUOO 16000000
2000000,0000.0000000DOO
g3bdbolgoooono,bobooboooon
ggobooogo,boooobobbogoooboobo
gobodgbogbooboobboobogan
gb.oob30010000o00bo00o,bo0
10000oobobooooobob. booooboo
ooooo0o 1ommO00 40 (DODOOOOO
0 TM10x 20,000 20mm)00 00 ,3mm 00
gbobooooboobob.oboooobooob
goobooog,bboooobobooooboo
ggoobooooooobobooooboooog, o
gboboboo.coboboboboooo 330
go.

20

HhotI)L
:m:}_@nm

m@/m

HTt)IL

1o

0330000

ooo,0000000 80kgDO.O00O0OO
gobobobooobobobooobo,ooboo
OO0o0oooOo0oDooOoooOoOooooOgeGO 4
gbobooboobbooboooboo

6GMg+ 4 x kx 60 5g + 40 30640 - 0.003

720.72[N]
73.49[kg]

gboo,0obooboobo.oo,obooo3boan
goboobooboobooboooboooo
0000ooO0o0o0oooO00. (Doooooo
gboooooboobooboooooo,boboaon
00)00,00000000000000000
gogboobood.bogobbooobobooaboda,
gboobooooboooobooboooooboao,an
UboodlemdbOOOO0OODOO0O,00 1.5mm
oobooooboOdsmmO 45000000000
g.0ogbooboobboobog,opooogaoon
gobooboobboobobooboonoobo

w cepV (T — Tp)

2300 - 900 - 1.29 x 1073 - (523 — 3)
13.9[J]

O00,5W|00000000000oouoo
O0000.0000 Cute-1.7+APD 000000
00000 100000000 5[secj00O0O0O
googo,000000300000000DO



01000000.0000000000000
0,000000000000000.0000
0 0.429[m/sec] 00D0. 00000000000
OO0 GPSOOOOOOO.

3.24 000000

00,0000000000000000000
000,0000000000000000000
0000000000000000000000,
0000000000000000000000
00000.0000000034000.0000
000000000000400000 (000
00)0000,000000000000800
0000000000000 21mm|00000
0D000000000000000. 00000
000 12mm|000 (00000000 TU21x
25,000 25[mm]) 0000, 1I5mm 000000
0D000000.00000000000000
00000 15mm]0000000000000.
00000 0.767(m/s|000. 00000000
D00 GPSOOOOODODO.

03000000

3.25 0O0OOO

O00H2A0000000000000000
00000 MECOODODOOOOODOOODOO
gboogboodgboobboobodgboobo
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00000000000 Pro Engineer/Mechanica
00000000oOo0O00000oooOo000
O00000ooooo0o0oooooooooo
O0000000ooobo0O0o

e 500[g)DO000DODOUIDODOOODO
e 500[g]D0D0O0OODOOOOODODODOD

googodgoo

ooooooMeEcOOOOODOOOOOOODO
4GO0 0000000000 1.8GOOO0ODODOO
obobogoooobobob 1sb0b0ob0on
O0oooboDbDoooooobooooeGOOOOD
oo027GOO0O0ODOOOODOOODOODOOOO
gbbooboobgoboooboobobooan
00300000000000000 47.65[MPa
goobooooobg

370

47.65
6.76 > 0

MS

gooboooobooobooboonoobo

U3 0000000000

0000000
H2A0DO000000000000000000
00 30HZ 00000000000 10HZ 000
0000000000000000000000
0000000000000000000000
00000000 52.36Hz0000H2A0000
000000000000000000000

3.3 0Ouoogd

3.3.1 0OOODOOO

uboobooobooboooboboonobad
gboboobooboobooooboobooon
goboobooboooboooooobooooao.



036 00000ooo

3.3.2 OOOODO

0oooooo
000000000000000000000
0000000000000000000000
0000000000000000000000
00000000000000000000000
0000000000000000000000
0000000000000000000000
00000 50rpm] 00000000
0oooo
000000000000000000000
0000000000000000000000
0000000000000000000000
00000000000000000000000
0000000000000000000000
00000000000
0ooooooo
000000000000000000000
0000000000000000000000
0000000000000000000000
0000000000000000000000
000000 2[deg] D000

3.3.3 0O0OO0ODOO

gboboobooobbooboobooooo
goboobooboobboobooboon
gobooobooobogooobooobooboobo
goooooo
ggoogoo
gboboboboboboobooobooooo.

T, = —4Q*(I, — 1.)¢

22

oo, 0000000000

000 kgm?
Q 00000 ,Q=/u/r
r 0000 [km]
m ooooooo
(=3.986 x10°[km?/s%))
) 00000000000 [deg]

D[]DI — I, = 0.00010r = 6678.1420Q =
36.580 = 100 O

T, =9.68x 107"

gooooogno
gbobooooooooooooooooon.

Ts = Fi(cp — cg)
F 0000000 [N
cp ooooon
cg gooon
P 000
A 000 [m?
Ps 000000 [

i : 000000 [deg]

000 A =0.2160bs = 0.080 = 100cp — cg =
0.0500
T, =5.17%x 1078

goooooo

gooboobooboboobooooboon.

T,, = M,,B
M,, 0000000 [A-m?
B 000 [tesla]
M 0oo0o00ooon)

(=7.96 x10% [tesla-m3)
000 M, =0.108B =5.3454 x 107° 00

T, = 5.35 x 1076

gooog

gbobooobooobooboobooooog.

Ty = Fy(ep — cg)



F, : 000|N]

cp : 00DDDODO

cg : 4gpoooga

p : 0000 [kg/m?]

Cy; : 00D0DDODO (2~2.5)

A . 000 [m?]

v : 0000 [m/s]
000000o0o0o0ooooooooooooon
00000000 p = 24180 x 10710C,; = 2.3
OA = 0.2160 = 77260cp — cg = 0.002 0 O

T,=717%x 1077

goooooobooboboboboboooon
gboooboooobooboooboooboooboo
gbooooboo13oo00ooan

0 13: 00000

0oooooo 1, [Nm| | 9.68 x1077
oooooooo T [Nm] | 5.25 x10~8
0000000 T [Nm] | 5.35 x1075
noooo 7, [Nm] | 7.17 x10~7

]

000000000 Thnae  [Nm] | 5.52 x107°

334 0O0OOODOO

oobobOoooboooOooooooooooon
0000000OO00.00b0o00o0o00oOoooo
goooooouoouobouooooooooo.

oooog

000000o000oooooooDooooon
goooooboobooboobobobooooo
OO0ooooOobOoOoOO0OoobooOoOoooo Op-
tical Energy Technologies O O Model 0.05 0O O
0000000 40000

0 14: 00000

00 [deg] | +0.0520)
000 [deg] 100
00 [g 40
00 [mm] ¢ 40 x 15
0000 [W] 0.05
0000 [Cl | -30 to 80

goodgnd

gboooooooooooboobobobon
obobooooooooooooobobooDo
O00DbO0Ob0 3000000000 Honeywell O
O HMC43 00000000 150000

01500000

0000 [gauss] +4
00000 (% FS] + 0.1
00 [kg] 0.05
00 [mm] 4.0 x 4.0 x 1.3
0000 [VDC] 1.8(1.60 2.0)
0000 (00000)mW] 1.44
oooo pC -30 to 85
ooon

ubbooboobooboobobooboo
gbobobooboobooboooboooooboon
gobooobooobooooboboboosubn
O000 InvenSense 0 O ITG-32000 00000
obi1e60000

0 16: 0000
000000 [deg/s] +2000
00000 (%) +0.1
00 [mm] 4.0 x 4.0 x 0.9
00000 [uA] 5
0000 [VDC] 2.10 3.6
D000 (D0O0)[mW] | 1370234
0ooo [ 30 to 85

GPS

goobgooboobooboobooboobon
oooooooooo GpSOOOCOO0ODOD
gboboobooboooooboooboooo
goboobooboobboobooboon
o0 GpSOOO0O0OOOOOOOOODODOD
IGPS-1000000000 170000



0 17: GPS
oo [V] 5
0000 [mA] | 160(000)
000000 (W] | 08000)

00 [g] 39g
00 [mm] 11x 36x 56
0000 [C] | -300+70

3.3.5 000OO0OOOODOO

gbooboooooboobooooosl3noon
gboooboooboooboobboobooba
gbbodbbooobboobbooboobo
gbooobooobooobooobboboboong
gobooboboobobooobobooobobd
Ooooobooooobooboooon eMG
gboooboooobooooooooooooo
gooobooobooboooboobooboooo
gboogboobobooboboobogbooboo
D50><50><5()[cm3]DDDDDDDDDDDDD
goooboooobooboobooboooo
gbooobbouoobbooobooboaobobg
gbooopooboobooboboood

gboboboboobooooo1bobob
00000000000 1000000 t[s)]00
gogd

H="Tu t
=92.33 x 107° x 5431
= 0.127[N'ms]

goooooboboboboboobooooon
gboooboooboobooobodgbooobo
goooooboooboobooboobon

O0000O0MAROTTA OO SV14 Cold Gas
Thtuster OO O OOOOODOOSV400000O
gooobooooboooboobooboonon
ooobobo4mNODOOOODOOOODOOO
gbobobobo 1 sgoooooooaoooog
oooooo3rboboboooo3roboobon
00000000000000 130mm]0000
gosoooobooo4po0b0ooboooonDn
gboo3booonbobooooboboooboboon
ooooo

0 18 0000
Operating Fluid Xe
G N,
Thrust Levels [mN] 40(£5% )
Operational
Temperature [°C] -35 to 65
Operating Pressure [bar] 2.5
Opening/Closing
Response [msec] 04
Mass|[g] g 75
Maximum Length [mm)] 52
Maximum O/D [mm] 15.85

g 37 000o0oaf
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3.3.6 UJ0OOOOOODOO

000000000000000000000
0.093m]0 00D0O0O0000 F(=0.04 [N))OO
00000000000000000 Ofrpm] 00
0000 50[rpm](=5.23[rad/s)) 00000000
000000 (00)0 (000 I,=90[s]) 000
000000000000000 1.68kgm200
0000000 ts00ooon

_ 5.23[rad/s] x 1.68[kgm?
~ 0.04[N] x 0.093[m] x 2
= 1355[s]

00000 mlkgl O
~0.04[m/s?] x 2 x t[s]
~90[s] x 9.8[m/s?]
= 0.108[kg]

000000000000 00D00OO 155[1(1 0
Hoooooooooooooooooooo
0000000000000000000 20.49(7]
00000000 10000000000 2049[I(1
00)joooooooo

3.4 0400

3.4.1 0O0OO0O0OOOOO

O0oooooooooooooooooog
000000000000 000D0000000
000000000000 o0o0ooooooon
0000000000000 0000oooooon
0000000000000 00OD0000000
0000 HK OO O O HouseKeeping datall 00 O
O00oooo0oDooooooooooooooo
O00o0Do00ooooooooo

3.4.2 00O0O0OO0OOODOO

goooooogn
000000 300kmO0 00000 30[deg) 00O
000000000000 JAXAOOOOOOO
0000000000000 00 45[degl 000
gooopooboboboooonog19000oad
godg

019 0000
oo km | 300
od min | 90.5
oooo km/s | 7.72

000000 | deg | 45
000000 | km | 600
oooooo | s | 778

gopooooogd

ugbbooboobgobooobooooboon
oboooooooboboooobo HKOOOO
obooooboboooeKOOoDooooogoo
oboobooooob oo1HzO00OO0OO 100000
17r3kbyte D0 OO DOOOOOOOOOOOODOO
oooooooooooooHKOODOOOOoD
gboboobooboobboobooooab
gboooobooboobooooboobooan
gbobooooooooooooobobobo
OO0DOo0ooOobooOoDOoooOoebit0oOon
gedbooobooonoboobooobooonon
OO0O001HzO0O0OOOoOooO gpSOOOOODO
obooboooooboobdob o01lHzDODODOOO
gboooooboobooboob 2000000
Ooboo0ooD 12kbyted 00 00O00OOO0ODO
gboboooobob3gbobooboobooaon
Ub00Ud1HzO0OOoOOoooboooooboooo
288kbyte DO O DOOODOOOODO
uboboooboooobooobboan 3600
ooboooobo 40b000boboobogon
oooobooor33kbpsUO0OOOooonooO
gboooesboouoobobobooboan
goboobooobboobboooooboooobo
OO0 9ekbpsDOOOOOOOODOOODOODO
gboobooobog2200o0.

343 0O0OO0O0O0OOO0OOOOO

gooboopogoogn
gbobooobooboboobobobooo.
uoboboooobboooobobooooonoog

0 TXE430MFMCW-301A,RXE430M-301A00 O

good
ubobooboobooboobooobooobobon
gbooobooboobooobbbooboon
gbbooboobugobooobooboooo
gbobooboobooobooobooooan



0 20: 0000000000
gooond

goo
goood
ooog GPS
goood
gooog
googoobooboo
gooood
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